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HATREAMN TOREEERMDIFEEATTEEHEIQIRG (FHIFE)

READERZTT S Kig~DERZXT S KBADKEEYIZH TS
%‘B@ SHEATITHEHE SHEAFTHEE EMEATITHEHE
LGk mXETF & (10°m°/4E) MXETH & (10°L/4E) mXETH & (10°L/4F)
1 |HsH 4,709,429| K H X 849,086 KHX 39,319,973
2 |iFeh 4,706, 407iTERK 336,441&ERX 11,644,370
3 |EEEM 2,754,070 K 313,980 TR X 8,916,997
4 RS 2,113,729 1E X 289,576 ]I X 8,071,076
5 |XKHK 1,099,711 IR IR 209,769 B X 6,503,933
6 IIER 1,014,200} )1 X 205,564 ;LRI X 6,437,872
7 |\EFH 854,697| B3I X 201,536 #F1E X 5,260,576
8 |BiIKX 796,066 #1E X 124,862| B 4,104,924
9 |BfiX 753.947| B8 X 115,394|4L X 2,290,577
10 |FA%H 720,763]4L X 71,116 iRIERX 2,167,678
11 |B%H 589,867|BTEATH 45,924] HE X 1,152,965
12 | KB ILH 499,568 EF X 34,509|;EF ™ 762,786
13 |&FtEh 406,431 )\ EFH 22,932\ EFH 558,292
14 |#RIEX 347,999|FBE T 20,6 70| B & 511,578
15 |ETETH 200,904|;F ™ 19,680)F ik h 357,892
16 FIFJIX 170,474|FEsmh 14,107 B & h 353,020
17 [{HtAAX 156,344 FFthh 10,376 |ETE T 277,981
18 |FEX 147,133| 8 & 10,254) FF R Th 261,560
19 |RIX 121,142|E 3L 481175 % EEERER % R AT 166,844
20 |HEER 103,400]3Z )11 1,457\ E 3L 82,992
A Bld = 95,502 |75 % EEER EL £ EE AT 780)3L)IITH 20,901
22 |HEX 89,664| =FETH 529| =& 9,524
23 |BEERX 81,471|HESHFHH 97| HEBHEHH 6,992
24 |#iX 81,207)Fr &4t 25037 &4t 6,665
25 | KSHT 78,656 R A F0H 2RI 0
26 |HEDH%HH 73,7202 HKX ojHEEARX 0
27 |=FEm 70,801 76 % EE AR Em s AT o| kAt Ll 0
28 |BX 68,965] 1 R [X o| K& B 0
29 |7a % EER AR ET 61222 EKX ] PEA 0
30 | =R 60,584 E X oj @ IIX 0
31 |/\XB/\LET 60,026| F#aTH ol &R 0
32 |EMILT 58,407 | B AT LU o| &t 0
33 |FEmm 53230|2EX o|2EKX 0
34 /v Em 49,767|1HAS X o B X 0
35 |'hERF 46,152)/MVER A 0|7 % EE ER En AR BT 0
36 |3ZJIT 44,100) AR o)/ hE IR 0
37 |FEH 34,330 FC AKX o] X 0
38 |HEAK 31,562 Bk B O] FHREX 0
39 |ZEM 31,433)JmiL O]=RK*0th 0
40 |2BERX 31,382 8RR o|EER 0
41 |RABXRKM 30,098 RA B X O|FRA B XK 0
42 |EHRX 27,488)/M&FHH oj/hEHh 0
43 RiIwh 25,306)| £ EH o|ZEh 0
44 |HEHFX 24,761/ ETH o)/ Eth 0
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RIZNDEMIHT D
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%‘B@ SHEATITHEHE SHEAFTHEE SHEATTHEE
163 X ETHT £ (10°m%/ %) X BT+ 4 (10°L/4F) X ETH £ (10°L/%E)
45 |=EE=EH 24 451 P+t ] BRESIG 7} 0
46 |RAH™H 23,938| = EB=EF ojFI S#F 0
47 |FmINR 23,115|EETH o|FaR = 0
48 |hRER 19,7400 & 41 oj#iz B4 0
49 B 17,709|78 % EEER H O HH BT o7& % EE &R H O tH BT 0
50 |/hEHH 16,985| ##;E B 41 o|E4 B 0
51 |i&#Em 15,236 K S HT o| X BT 0
52 |FHRAERX 15,049 X FH X O|XREEX 0
53 |EnFEH 13,4278 &H olfz&EH 0
54 | &% 13,409 {EN & & 41 o|l==8==H 0
55 |7E% EEEREH O BT 12,927 R O|=HKX 0
56 |&REK 12,845| & B4t offHiEk &% 0
57 |f&@&£m 9,965 /\3L &/ \3LET oj/\3X 5 /\3LHT 0
58 |fEE 4T 5077|ERAf LU ofE ALl 0
59 |FIEH 4,848 42 i [X oj#z it X 0
60 |Bv B 3400|EHFh o|EnFmH 0
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